
Problem l. 
Consid0r t he function 
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+ 1 ~f :i; < 1 
.f(:r) = 3 1f x =l. 

)r;-1 if X > l :r -1 

(a) [2prs.] lTse tl1e limit or cont inuity laws to determine limx--+1- f(x) 
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(b) [-!pts.] Determine lim:r ..... 1+ f(x) 
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(c) [4pts.J Is f left t · 
at 1? con muons at 1? Is it right continuous at I? Is it continuous 
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C.onsidE-r the function J(x) = x.113 + 2 + x-1/ 3 . 

,,vJ Problem 2. 

(a) [-!pts.] Compute f'(S). (You may use any of the derivative rules we covered in das8.) 
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(b) [6pt.s.] Write an equation for a line tangent to.fat x = 8. 
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Problem 3 10 ~ 
. 'Pt-S. 

- Comout ... -lJ . e Lhe denvath-e of the function 

J(x) = (1 + cos4 ( / Jx2 + 3 + 1)) s . 
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Problem 4. 
Define the function f as 

J(x) = {x
0

2 
sin(l/x) if x # 0 

if X = 0 

(a) [4pts.1 What is the derivative off at 1? 
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(b) [6pts.) Is f differentiable at O? If so, what is the derivative of f at Q? If t 
explam why not. 
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Problem 5. 

' ' 

(a) [4~)t~.] Sketc:h a graph of 5sec(2x). (Your graph just needs to show where Llie 

immmn, am and what values they have, as well as where the verticfl.l ft.Yymptot.i:::, 
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(b) [6pt.s.] Use the intermediate value theorem to show that 5 sec(2x) 

infinitely many solutions. 
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